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KEY © @ (ax+b)cx+d)=acx*+(ad+be)x+bd

FENT

12 RoAXZERHE X,
(1) Bx—1)(2x+5)

(2) Cx+y)(7x—y)

& (1) (3x—1)(2x+5)=(3-2)x2+{3°5+(—1)-2}x+(—1)-5=6x2+13x—~5
(2) Qx+y)(Tx—y)=2-Dx*+{2:(—y)+y-T}x+v-(—y)=14x2+5xy— y*

14a KOKFERE L, 14b B3 otz Emw X,
(1) 2x+5)3x+1) (1) (Gx—2)(6x—1)

(2) (7x+3)(2x—5)

(2) (a—4)(3a+8)

(3) (4x—3y)(x—4y) (3) (3a+2b)(5a+b)

(4) (Ba—0b)(2a+70b)

4) (—2x+3y)3x+v)
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KEY '|0 DREREROER T, BRO—BEEEHTIDODXFICHEEDADE, TFEA

BEDZIOFIA REFPTEBZEDHS.

El 13 ®oRzREHE L,
1) Qx+y—1)2x—y—1) (2) (a+b—c)

BEl (1) 2x—1=A:8BLL
(20+y—1)C2x—y—D={Qx—D+yH(2x=1)—y}=(A+y(A~y)
= A2—?=2x—1)?—y?=4x*—4x+1—y?*=4x’—4x—y*+1
(2) a+b=A LBk
(a+b—cyP={(a+b)—cP=(A—c)=A*—2Ac+c?
=(a+b)3?—2a+b)c+c*=a*+2ab+b*—2ac—2bc+c?
=a’+b*+c*+2ab—2bc—2ca

15a B nox#EHE L, 15b mE kot zEme L,
(1) (x+3y—1(x+3y+2) (1) @Cx+y—2z)2x—3y—2z)

2) (x2+x—1)(x2—x+1)

2 {arylin=—yp—1)

16a KORA B L, 16b KON A X o
(1) (a+2b+3)? (1) 2a—b—1)?

(2) (x+2y—2z)? 2) (x2—x+2)
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